Whitman College 
Econ 358 
Exam 3 
November 20, 1997 



Write all answers in your blue book. Show all of your work. 



Suppose the Capital Asset Pricing Model assumptions hold. Use the following information to answer all of the questions on the exam. 


The market portfolio has a standard deviation of 0.15 and an expected return of 0.14. The risk-free rate is 0.04. The following table provides information about three of the securities in the market portfolio. 

	Security
	Standard Deviation
	Covariance with the Market Portfolio

	C
	0.400
	0.045

	D
	0.100
	0.005

	E
	0.120
	-0.002






1. (25pts) If the returns from the market portfolio (M) are normally distributed, then there is a 68% probability that the return on M will fall within what range? 


2. (30pts) Calculate the expected return for each of securities C, D and E. 


3. (30pts) Graph the feasible set of risk and return for all risky securities. Show securities C, D, E and M on your graph. On your graph, indicate the efficient set of risk and return for all securities, including the risk-free security. 


4. (30pts) Suppose someone sought an expected return of 0.24. What portfolio would this person hold? What standard deviation would this portfolio have? 


5. (35pts) Consider the following project, which has a standard deviation of 0.15 and a covariance with the market portfolio of 0.005. The project requires spending $200 now and provides expected benefits of $230 two periods from now. Should the project be undertaken? Explain.
